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-1 0 1

b

Perfect inverse No Perfect direct

1--1<r<1

Correlation Correlation Correlation

nyxy-yx)y

( Janz-(Zx)z )(JnZy"-(Zy)z)

6Y D?
n(né-1)

2 Y=

(pearso's cor.)

r=1- (Spearman's rank corr.)

4- y=a+ bx (The regression line of y on x)

nyxy-Yxyy Ly-bYx
b(reg.coeff.) = s m a=

n
Table value — the value satisf.
the regr.equation

Error = ‘

5- i)P(AU B) = P(A) + P(B) — P(AN B)
ii)P(A\) =1 - P(A)
iii)P(A—B) = P(AnB\) = P(A) — P(AN B)

6- P(A/B) = Pi’:gf ) (Prob.Of A in condition of B)

7-P(AnB) = P(A) x P(B) (A, B are independent)
8- The mutually exclusive events (ANB) = ¢
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9-u=2x f(x) (mean)
10- 0% = Y. x,.% f(x,) — p? (Variance)
11- 0 = Vvarince (Standard diviation)

12- Coeff.of variation = -E X 100%

13-Z = ? (z is the standard value, x is normal value)
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I Experimental Exam(2018) (1) I

@ ermdBmmindepcndmlcveauoflmnplc,
space S for 3 random experiment where ;
P(A) = 0.6.P(B) = 0.3.then

P(B = A) = roseens

@ o9
© o018

® o
@ ou2

IfAand B mmocmuo{aumplupa:cSl’m
a random experiment then
P(A N B) = P(A) x P(B|A) ==

@ Po) @ P(S)
© P@) @ P®)

If the regression linc equation Y on X is:
2Y = 3 + X, then the correlation between the
values of X and the values of Yis

@) - nihilistic (® dircet
© inverse @ Petfect

-

@ Answer only one item from the items of this question:
fLx=41.YXy= 55, Xxy= 362;- :
Lx?=256,% y> =623 gndn =8

m‘ - .
() Pearson's lincar correlation codﬁc:cmbcm
X and ) and determine s type.

(b) The regression line equation of Y on X

@ If X is s normal varable whose mean H=5and
its standard deviation O = 4 ,then the vanable
mbjecwdloasundudnonmldim'buuonu:

p—

e
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\

If Z is a standard fiormal variable

and P(Z 2 —k) = 09834, then k =+
@ 21 ® 213,

“© 2 @ 23

@ If X is a discrete random variable whose
probability distnbution is as follows: . =

Xr | 2 4 a
f(x,)| 02 b 04 |01

-

Find : I
First .z The value for each of a nnd_bjflhenican
- " -J -

Second : The standard deviation of the random
_variable x

I is a continudus rindom variable, its
probability density function is :
1
s fx) = ;.(2:4 1) when2<x<5
2er0 otherwise

Find :
First :P(3<x<5)
Second : P(x> 4)

@ If the mean for a random variable equals 47 and
its varjance equals 100 then the coefficient of

vanation of it equals ......... . % (approximately)
@ a3 ® 2128
© # @ 40

IFP(A') =5, P(BA) =+,

© 1

“thea P(ANB) = ..o ol

o

81
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| Experimental Exam(2018) (2) I

@ If Aand B arctwo mdq;cndcnt events of a ssmple

- —

@ From the data of the following table:

X 3 1 6 | 4|13

Y 1.1.4-4 S| 8| 6

between x and y ,then show its type.

Answer only two iters from the items of this question :

25 study Biology and 10 study both subjects,
A student is andomly chosen, Calculate the
probability the student chosen studies:

(a) Chemistry if He (She) is already studying
Biology.

(b) Biology if He (She) is already studying
Chemistry,

@ If X is a normal variable whose niean
H =17 and its standard deyiation & = 2

Find : *
First : P(16'Sx< 20)
Second : P(x>1$) R

Calculste spearman's rank correlation coefficient

A 50~ student classroom has 15 study Chemistry,

>

space.§ for a random experiment where =
P(A) = 0.5,P(B) = 0.6;then
P(A'UB')=

03
©) 08

® 07
@, 02
@ 1 2
If P(A) = 7, P(A=B) =5,
then P(B'[A) =" tesveve
. o 3

BERNR{ O %,

Ve ;

A

-

@ TH arisle tht ca b stimated frons he regession
line equation is called................ variable.

@ independent @ dependent

@ diitct @ invcrsé

' If x is a discrete random variable whose pmbabil—
ity dlsmbunon 1 defined by the function } .

f()=—whmx =0,l2ad3

Find :
First :The valuea

" Second : The expectation and the variance of the
random Variable x
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h—

@ If the expectation for s random variable is # and
its wandard deviation equals 8 and its coefficient of

variation equals 8 )% thenp =......

@ « ® w
© % @ 1037

@ If P(A|B) = %

P(B) =§ then, P(A’ U B') =10,

® ®
© @

@ Azswer saly two items (rom the items of this question :

If a die has been rolled once, Calculate:
(3) The probability that the appearing numberisa

prime number on condition that the appearing

number is an odd number.

(b)rbepmubmymatmeappmgnhmbcmm
0dd number given that the appearing number s

divisible by §

(c) The probabality that the appeating rumber is an

even pumber on condition that the appearing
number 1§ 2 multiple of 3.

> \ o
If x is a continuous random variable, its probability
density function 1s :

) = é(x+2) when0 Sx <4
zero. " otherwise

Find :

Firt :P(x23)

Second : P(25x54)

./

. Answer only ong Item from the items of thls X
questiony” - o
tLx=60,y=70,Lxy=374
Yx? =406,% y* =536 andn =10

Find 3
(a) Pearson's linear correlation cocflicient between

x and y and Getermine its type. ’»\.’ :
(b) The regression line equation of ¥ onx .

)i/ 2
. If Z is a standard normnl vnnablc
P(Z < k)= 09147 then k= ..

@ @3T R~ @ 097

o &

©- 213 @ 12

If X is & normal variable whose mean
{=9 and its¥ariance cquals 16 then the variable
R /subjected to a standard normal distribution is:

A

@~ o7
©.

D

@ If x is a normal variable whose mean H =8
and its standard deviation 0 =2
Find :
First :P(x<10)
Second : P(5.8 < x < 10.2)

L ol ) ha—
The following table shows the marks of six
students in mathematics (x) and statistics (y):

Mathematics (X) | 22/ 25| 19 | 24 | 2§
Statistics (Y) |45 |35 | 40|28 | 40

* Calculate the value of the spearman’s rank
correlation coefficient between the marks of
mathematics (x) and the marks of statistics (y) and
show its type.
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- o

® If the marks of the students in an exam follow
2 normal distnbution whose mean is 75 and its

standards deviation is 5 ,if the mark of a student
equals 80 marks, then the standard normal value for
the mark of this student in this exam equalss, ) )
@ -1 ® |
© 1» @ -0

Prepared by the Expert in Math/

If x is 0 discrete random variable whose probability
distnbution is as follows Mr George Adel

X, 0 |
f(xr) 04 a

Find :
First :The value of

Second : The expectation and the standard
deviation of the random variable X

If X is a continuous random variablc, its
probability density function is ;

) ={i(x+_a) when0 S x£2 ‘
ero otherwise
Find :

First :The valueof a
Second : P(in < ;)

Answer only one item from the items of this question:

If3x=56,1y=40,%xy =364

Txt =524,y =256 andn=8

Find :

(1) Pearson’s linear correlation coefficient between
X and ¥ and determine its type.

(b) The regression line equation of ¥ on X .
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(x Model ANSWAY )
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il
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&= ﬂ‘ﬁ Qf)(
S ng) L'; ]\\Q“)
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'3427

P\ o574
Q T
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I6F

X

L ~EXS () (L)
Vn & =0 n dy ity

. 2Q342)- (Wsy)
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2 o)
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PL. 3;4 2y
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